CBSE Class 12 Geography Compartment Question Paper 2020 (September 23, Set 2- 64/C/2)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(11)
(111)
(1v)

(v)

(vr)

This question paper comprises three Sections — A, B and C.
There are 30 questions in the question paper. All questions are compulsory.

Section A — Question nos. 1 to 18 are multiple choice questions (MCQs)
carrying 1 mark each. Write only the correct answer in your answer sheet.

Section B — Question nos. 19 to 22 are short answer type questions carrying
3 marks each. Answer to them should not exceed 80 — 100 words each.

Section C — Question nos. 23 to 28 are long answer type questions carrying
5 marks each. Answer to them should not exceed 150 words each.

Question numbers 29 to 30 are MAP questions related to identification and
locating and labelling of geographical features respectively, carrying 5 marks
each.

The outline map of India and World provided to you must be attached within

your answer sheet.

(vit) Answers should be brief and to the point and the above word limit be adhered

(viii)

(ix)

(x)

.64/A/2 8
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to as far as possible.

There is no overall choice in the question paper. However, an internal choice
has been provided in 3 questions of one mark, 1 question of three marks,
4 questions of five marks and map question. You have to attempt Only one of
the choices in such questions.

However, separate instructions are given with each section and question,
wherever necessary.

Use of template or stencils for drawing outline maps is allowed.

SECTION A
In which one of the following countries i1s ‘cooperative farming’ very
successful ? 1
(A) India
(B) China

(C) Denmark
(D) Germany
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2. TIH USH MNHI (W.U.3A.) o TR &A1 H Tieansti i Afeehar o
H=TeiRad d | shIH-91 &I SR g ? 1

(A) 9% AT &1 § & ohl TRl <d @
(B) Y&l 1 &L ¥l H JeITd il
(C) Y&NI (S=dl) &l = 51 T

(D) Ta=ma USATR o AT hl AT 33M b 1T AlGAT3T b1 TTHIT &1 |
T &A1 Sl 3T=adaTg

3. TAmfciRad d 9 s9-81 SHEEA1 i ardideh Jig S 8 ? 1
(A)  Torel & Tomiy ¥ g 99 H SHEE § giEdd

(B) W 3R §Y o 3T ¥ de- dlcil THIEAT

(C) H 3R §F b 3=l ¥ F¢d il SHIEIN + ATIEE — Icqad

(D) S + ATEE & S8 H Iig

4.  TAfiRgd ® g a1 Iqd Tshamehary & ? 1
(A) SohIcLh T

(B)  g=HT I G, IcUIeH AR JehIvH

(C) TohEM &l &Y
(D) HYAR I A
5.  HEldigd § 9 $H-91 YXd § 999 981 T 9% & ? 1
(A)  hIAhHI
(B) J8g gIS
(C) fegi
(D) =%
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2. Which one of the following is a main cause for the excess of females in
urban areas of United States of America (USA) ? 1
(A)  Males prefer to live in rural areas
(B)  Out-migration of males to other countries

(C) Low birth rate of male child

(D) Influx of females from rural to urban areas to avail vast job
opportunities

3. Which one of the following refers to actual growth of population ? 1

(A) Change of population 1in a particular area between two points of
time

(B)  Population increases by difference between births and deaths

(C) Population increases by the difference of births and deaths plus
1In-migration minus out-migration

(D) - Increase in population by births plus in-migration

4, Which one of the following is a Quarternary activity ? 1
(A) Work of a lawyer

(B)  Collection, production and dissemination of information

(C) Job of a farmer
(D) Work of a fisherman

. Which one of the following is the largest ‘Urban Agglomeration’ in India ? 1
(A) Kolkata
(B)  Greater Mumbai
(C)  Delhi
(D)  Chennai

P T4
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6. Topm YR hl Uil i, [oRId o AgH 3T USRI o o U H ATUh

®Y G IS ATdl & 2 1
(A)  Tfesd dfedl
(B) 319I[(odd dfeadl
(C) gl afer
(D) YRi&re sfeqat
AT
forg TR <hl UTHIUT STETAT, T o HEF 3T HH ASHI H a9 &9 H UTg AT
87 1

(A)  Tsd SiEl
(B) 3Y-Ifesa sfeadl

(C) UGl Si&l
(D) uftierd sfear
7. 2011 = 'SHEUHE] % AR YA o HHfRgd TsA1 § § fhad T 6l
el S T 7 ? 1
(A) ' SREUS
(B) ' TeHT=cT Yeul
(C) TeER
(D) 31H
8. Tamfciitgd # € sH-|1 ‘Wd <l TP a1 Hifd” =61 G fog’ 787 2 ? 1

(A) T o T "I

(B) IFY FdT o CTIcdi ol d&d ohidl
(C) HigeATS 3T ASTRAT bl TA ST
(D) &Y 3™

9. THMIEd ¥ § IH-91 Yk TP Oh™ R gRI HaMfd T WA 1
3 g1 B ? 1
(A) YA FaY, {1811, T%R 9 Wos Td 6l I&agH
(B)  3ofl 39N dAT dehicdeh YNAEA a3 bl 39d ST

(C) Wigaedl sl A Ha13li a Ugd H IR
(D) &SI o [T ATYE™ | TTeiHehdl
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6. Which type of rural settlements are largely found in Gujarat plains and
in some parts of Rajasthan ? 1

(A)  Clustered settlements
(B)  Semi-clustered settlements
(C) Hamleted settlements
(D)  Dispersed settlements

OR

Which type of rural settlements are largely found in Middle and Lower
(Ganga plains ? 1

(A)  Clustered settlements

(B) Semi-clustered settlements
(C) Hamleted settlements
(D)  Dispersed settlements

7. Which one of the following States has the lowest level of urbanisation 1n
India as per 2011 census ? 1

(A) _ Jharkhand

(B) ©~ Himachal Pradesh
(C) = Bihar

(D) Assam

8. Which one of the following is not a ‘thrust point’ of ‘National Youth Policy
of India’ ? 1

(A)  Participation in decision-making
(B) Carrying the responsibility of an able leader

(C) Empowering women and girls

(D) Male out-migration

9. Which one of the following 1s not a part of urban strategy as outlined by
UNDP ? 1

(A)  Provision of basic services, education, sanitation and clean water
(B) Upgrading energy use and alternative transport system

(C) Improving women’s access to basic services

(D)  Preference for male in-migration
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10. ToId: SAAH-3TN T AT TEU & A ¥ et 9§ T fosner w7 fawm &=

4 gfafad gt Smar 8 | 38 Feafafaa ami 5 9 sH-ar 9w e S g 2 1
(A)  Tavaad
(B) I &
(C) oA
(D) HAR
11. THTaRgd H 9 hi9-H1 T <hl FTHTSI THST 78T 8 2 1
(A) ST AR TETEeT AT shi TITT
(B) TSR <hl <hHl

(C) Y°Y TFHTHS (J9™) Ja1H
(D)  3Fid Helsld JuTTe!

12. HHMARGd SFEqIT o Ifdeq] H T ShI4-HT TSohl b [ohdAT Tehidd BIdT & 2 1
(A)  ATIATHR Jidey
(B) JI-3ITehR Uidey
(C) dR-<h JATHI 1 Tidey

(D) . IRgs Ulded
13. HHR o {h8 UM H had HR &1 SN I T b 9 H AHT SATdT 3 ? 1
(A) ST 5 BihEl Ta3l
(B) &, 3THIRT
(C) WRA o Il T
(D) et guSHRmET
14. TEMIREd AIB-3TT%h b &A1 § 9 hI9-T1 Shrilcsh H €d & ? 1
(A) STl
(B) Temg
(C) WIS
(D) TR
AT
IRd H H=faigd U= | © -9 Sieamse &1 g9y 981 3cq1esh U9 3 2 1
(A) HINE
(B)  TSIEIM
(C) It
(D)  3T7Y Yeu
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10. Which one of the following names 1s given to a large area of urban
development that resulted from the merging of originally separate towns

or cities ? 1
(A)  Megalopolis
(B) Mega City
(C) Million City
(D)  Conurbation
11. Which one of the following 1s not a social problem faced by the towns ? 1
(A) Non-availability of educational and health facilities
(B) Lack of employment
(C)  Male selective migration
(D) Improper sewage system
12. Which one of the following patterns of settlements develops on either side
of a road ? 1
(A) Rectangular pattern
(B) T-shaped pattern
(C) Star-shaped pattern
(D) . Linear pattern
13. In which part of the world is ‘slash and burn’ agriculture known as
‘Jhuming’ ? 1
(A) Hokkaido.region of Japan
(B) Central America
(C) North-Eastern States of India
(D) Eastern Indonesia
14. Which one of the following iron-ore fields is located in Karnataka ? i
(A) Bailadila
(B)  Chitradurga
(C) Mayurbhan;
(D) Ratnagiri
OR
Which one of the following States 1s the largest producer of ‘Bauxite’ in
India ? 1
(A) Maharashtra
(B) Rajasthan
(C) Odisha
(D) Andhra Pradesh
B4/A2 9 P.T.0.
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15. fAefcifigd R | & fohdeh RO iUl {ed ohl AT HI Th S
FHchRR HHET ST 3 2 1

(A) I8 760 TerHl IFaT T@HT B |
(B) IE GUT ol YK dl & |

(C) I8 146 AT 9 gmAi, 2000 A T 91 UM hl IR HLal & |
(D) IE HERIY, e qT shdideh hl SISdl & |

16. TR | O shIH-A1 37 N[ ol HIU[ & ? 1
(A) A TG
(B) 9T YU
(C) ¥ wguu
(D)  &di gy
17. T=fdigd ©sEi 1 SH-A1 998 T HgMET] §6&A1 1 o 919 981 § ? 1
(A) gt AR hicTehra
(B) fagt 3R graig
(C) /' Tagl AR
(D) ' &gl 7T ==
ST
HETcTiRed & 9 -8 ITGI Ty sl Hed I fog 8 2 1
(A) Teg
(B) =ENTg
(C) 4R
(D) W&
18. = & aifert # 3ug wedl F A SR BF e v o A . L4 Lo
W H % kU
A | B
| l
SH 9 THare IFES ° O
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15. For which one of the following reasons, 1s Konkan Railway considered an

engineering marvel ? i
(A) Iti1s 760 kms long.
(B) It passes through tunnels.
(C) It crosses 146 rivers or streams, 2000 bridges and 91 tunnels.
(D) It connects Maharashtra, Goa and Karnataka.
16. Which one of the following is the cause of acid rainfall ? 1
(A)  Water pollution
(B)  Air pollution
(C) Land pollution
(D)  Noise pollution
17. Which one of the following group of stations i1s connected with National
Highway No. 1 ? 1
(A)  Delhi and Kolkata
(B)  Delhi and Mumbai
(C) Delhi and Amritsar
(D) © Delhi and Chennai
OR
Which one-of the following is the Northernmost point on the ‘North-South
Corridor’ ? 1
(A)  Delhi
(B) Chandigarh
(C)  Srinagar
(D) Leh
18. Complete the following table by writing the appropriate terms at
_ I 1 _
A and B : 515 =]
Cropping Seasons in India
A v B
June to September October to March
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QUe @
19. 3T=aUSH YR foh TehR <M o ToIU BTHeheh Bl Hehdl & ? SITSAT hifiT | 3
AT
IAUT SIMUR 1 BT UY o fau fohd YR UEIieh AT Bl & ?
ST hifSTT | 3
20. THAfIRGd qTcieh] i ATEYHIYeh LTI shifoll R ITeh e T T I o
W%{—\@E: I1+1+1=3
T BILME]
TSI 86-6
ST 772
e 9o 66-5
Halllg 650
3T T 58-21
SIRE R 57-6
AHATS 5417
(20.1) 39T &1 91 TaRgu s fG=ms o fu g S &1 gaites gidaerd

IYINT hidl & |
(20.2) To=ms & o0 9 I & ITATSH IUFNT & W T B 2
(20.3) ¥Nd H feq-ufafeq S& A1 ufd = Iucteudr =1 92 @ 8 ? WY

hITTT |
FIZ: HEIREd 394 #aci FIRETIAT Ghemaar & 177 J979 &97 20 & H W
g/
TG U STod FHT1EHT <hl Sl o feheal 19 ShITOT ohl TIF hif9u | I1x3=3
21. YA ¥ T IfEqat § @A Il hl GHEIei sl TY hifeu | 1x3=3

22. ‘9 H Hifdeh R A I3 sl 9uiH, HHd IR &HI-95H 9 Jdiehl
T TN Hd §Y, Tl o &9 H fhAT S 8 |7 IS dohl 36 HAT
ST hITT | 1x3=3
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SECTION B
19. Explain how international trade can prove to be detrimental to the
nations. 3
OR
Explain how international trade 1s mutually beneficial to the nations. 3
20. Study the following table carefully and answer the questions that
follow : 1+1+1=3
Percentage of net irrigated area to total by wells and tube-wells
State Percentage
Gujarat 86-6
Rajasthan 772
Madhya Pradesh 66-5
Maharashtra 65-0
Uttar Pradesh 58-21
West Bengal 57-6
Tamil Nadu 547
(20.1) Name the State that uses the highest percentage of groundwater
for irrigation.
(20.2) What would be the 1mpact of excessive use of groundwater for
irrigation ?
(20.3) Why 1s the per capita availability of water declining day-by-day
1n India ? Explain.
Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 20.
Explain any three causes for the depletion of water resources in India. 1Ix3=3
21. Explain the problems of ‘slum dwellers’ in India. I%3=3
22. “The physical and human phenomena in Geography are described in
metaphors using symbols from the human anatomy.” Explain the
statement giving examples. Ix3=3
64/A2. 13 P.T.O.
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Qug T
23. T=tdIiga g 1 gregryds 1erq Fifve TR 3Fe = U U ge i *
3dY ‘%{@E ‘ I1+1+3=5
60° W 70° 30° 90°  150° 70° 60° E

200 600 QOOf&TT-ﬁ]
T —

(23.1) 39 (W o Tohal gl TIEI o a9 TaiRgy |
(23.2) 3 T WUSI o A fIRgU 7t 36 @@= 4§ I8 & |
(23.3) 3H {@HN o AT Hawd hi WE hiT |

FIZ: HEIREd J97 #acl giREnaa ahentdar & /g yo7 6qr 23 & EH W
g /

TR H 91 yitagd o a4l 3R g1 bl T8 HINT | 3+2=5

64/A/2 14
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SECTION C

23. Study the following map carefully and answer the questions that
follow : I1+1+3=5

i v 1767

150°

v g P, 4 / \ 0 300 600 900Km
.: ?\‘ ~ | r " ’ 3
3\ 6 3 / ’ r~ \ g gy e S

60° 90° . 120°E

(23.1) Name any two stations of this railway.
(23.2) Name the two water bodies that are connected by this railway.

(23.3) Examine the economic significance of this railway.

Note: The following question is for the Visually Impaired Candidates
only, in lieu of §. No. 23.

Explain the advantages and disadvantages of ‘Air Transport’, in the

world. 3+2=5
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24, HER H Meies fEafd s garfad s ared shiehl hi sATEdT shifsu | Ix5=5

3Tl
TR § R I AR B UgH & I hl Tauiwarsdi il e
hT1oTT | 2 +22=5

25. ‘UMHd foer@ il IEYURON I WY hifVU | AFa [T &1 fomr fhg IR

gudT, FIqINUiIdl, 3caTcehdl TR TRRAKUT shi HehoddT1AT G A 8 2
ST hilvT | 1+4=5

26. YR H JHEEIT & 3THH T TIawur o I 1 faoayer shifsu | Ix5=5

AT

“ORa ", UTioT § T &A1 § JeY Jd IE| 8; Seieh Al ol JarE JTHI
o U & § It 8 |7 PRl S 38 Y T TITeINTl ShIfT | 2é+2i=5

Z
27. ITWFT HoAl o @I hd ThR T&d YT GAGUI-3T{%hd ¥g sl ? &

HIfT | 21015
11T 2 2
“ORd | S R Uiy 3t off o1t o IHA™ Fid & |7 39 Y i giY
T | 2§+2é=5
28, NG U STUE HTR oHaT oh [dhd <hl SATET hilald | 5
3T
YR § SHEER & 11 o ®9 § Al 3 SAifasH & waw i 3eewn afgd
Y HIT | 2§+2é=5
29. WRA % QU U USHIfds W@r-AFRE (I8 21 W) § f=fciRad d 9 fhal grer
YHTIcTeh I8TUTl ol SURR Taal g 3Afehd hilolT 3TR 3eh A ToiRgu 5x1=5

(29.1) ¥4 Tk g=rehieh (HDI) H e T &R/ I1e1 TsY
(29.2) hIth! T UM IATEH T

(29.3) Wde! — drlel @H

(29.4) THATE — TEUTd €I

(29.5) TTHT H HFEAIX TRl dTeh

(29.6) Td-UTH TR T I=Hl R’ 1 T4
(29.7) USE H =AU IrIU<H
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24. Explain the factors that affect the industrial location in the world. IX5=5
OR

Explain the characteristics of household industries and small scale

industries of the world. 2 é +2 é =5
25. Explain the concept of ‘human development’. Elaborate how the i1dea of

human development 1s supported by concepts of equity, sustainability,

productivity and empowerment. 1+4=5
26. Analyse the causes for the uneven spatial distribution of population in

India. 1%h=5h

OR

“In India, male migration 1s higher from rural to urban areas while

female migration is higher from rural to rural areas.” Analyse the

statement by giving reasons. 2; +2é =D
27. Explain how non-conventional resources of energy will prove to be cheap

and eco-friendly. 2; +2; =5

OR

“Coal and petroleum are still essential sources of energy in India.”

Support the statement. 2; +2é =5
28. Explain the development of satellite communication system in India. 5

OR

Explain with examples the importance of radio and television as a means

of mass communication in India. 2; +2; =5
29. On the given political outline map of India (on page 21), locate and label

any five of the {following geographical features with appropriate

symbols : Sxul=5

(29.1) The State with lowest level of Human Development Index (HDI)

(29.2) The leading coffee producing State

(29.3) Khetri — Copper mines

(29.4) Bhilai — Steel plant

(29.5) The Software Technology Park in Telangana

(29.6) The western terminal station of East-West corridor

(29.7) The international airport in Punjab
B4/A2. R Y A P.T.0.
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FIZ:  HEIRET 397 $acl FIBATIET GHLTIAT & 070 J97 G&I7 29 & T W
g | Ieb=8] gier ¥9] & I [c71T :
(29.1) HFd I g=rehleh (HDI) H ¥a8 H T Tl T bl M TIRaU |
(29.2) THI%I b UM IcTTEH T I 410 T0IRIT |
(29.3) Wd<l disn1 @H fohg T=¥ ¥ feoq 8 2
(29.4) foers ouTa T fopm U= o fedyg 2 2
(29.5) HTHT T e GiecaaX TIfehl 9Teh o1 A foiRkaT |
(29.6) Yd-ufvem AR o qfvadt R o ©yH 1 9™ faRau |

(29.7) USIE § A~qUT IRIUTH o1 A1 TTRaT | 5x1=5

30. WER % U T TSHildeh W@I-AFRT (I8 23 W), § 9= YT A&Iol b
@, ®, ©, O q (B) @ fo@rn T g | 396! 9gaH (Tfdaiad S bl
Hag H hilel 3R Ieh Hal AH 3eh I Gl 13 @il R TIRau - 5x1=5

A. foeqa ST 3 SN 1 &1
B. TG HHGI-gdH

] 1 aiteE et

D. 3T STHILHT | e a7 <F

E. i e

FIZ:  [HHICTRET Y94 Aol FIRATIIT GHATIAAT & 170 97 G&I7 30 & €I T
&/
(30.1) IR H fa&qad ATSA 3ET HN & 1 A9 fofay |
(30.2) %I § Tohdl Tesh YHE THgGI-I<H ohl ATH fIRgT |
(30.3) 3T AU H AT:TAAT TAHF] 1 Ig@ hifwiT |
(30.4) 3T MR H GH S o3 hIH-H1 8 ?
(30.5) TIh UST THIERT o TohEl Ueh MR &F ol 919 TRIT | 5x1=5
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Note :

30.

Note :

(=] 5 [=]
£

The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 29. Attempt any five questions :

(29.1)

(29.2)
(29.3)
(29.4)
(29.5)
(29.6)
(29.7)

Name the State having the lowest level of Human Development
Index (HDI).

Name the leading coffee producing State.

In what State are the Khetri copper mines located ?

In which State 1s Bhilai steel plant located ?

Name the Software Technology Park located in Telangana.
Name the western terminal station of East-West corridor.

Name the International Airport in Punjab. 1=

On the given political outline map of the World (on page 23), five

geographical features have been marked as @A), B), ©), (D and E).
Identify them with the help of the following information and write their

correct names on the lines drawn near them :

A.

B.
C.
D.
K.

OHx1=5

An area of extensive commercial grain farming
A major sea-port

The shipping canal

The largest country in North America

An 1industrial region

The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 30 :

(30.1)
(30.2)
(30.3)

(30.4)
(30.5)

LA Ui AP G DR R s P G AP O O Py
:
E
. N ]
LA R H G T P G D A GG ARG 1 G A T

Name an area of extensive commercial grain farming in Eurasia.
Name any major sea-port in Africa.

Mention an inland waterway in North America.

Which is the largest country in North America ?

Name any one industrial region of United States of America. 5xI=5
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For question no. 29
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For question no. 30
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